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1182. LYwuwpbp pudwlunid.
w) 52,3527 : 3,27 , n) (-19,558) : (-7,7), E)(-0,90216) : 0,14
p) (-32,8) : (-8,2), k) 0,1938 : 0,51, ) (-0,0101) :(-10,1) ,
g) 25,52 : (-5,5), q) 2,304 : 7,2, B) 6,858 : (-0.9) :
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1188. LYwunwpkp gnpénnmpmuutpp.
w) (283 - 63 + 26650 : 13) - 4 - 182,

p) (20808 : 18 — 89112 : 1128) - 5,
q) 23056 — (15300 + 185) : 163,
) (41000 - 8512) : 262 + (261 : 29) - 30:
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2) 26650 : 13 = 2050
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3) 17829 + 2050 = 19879
4) 19879 - 4 = 79516
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1) 15300 + 185 = 15485
2) 15485 : 163 = 95
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2) 41000 — 8512 = 32488
3) 32488 : 262 = 124
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5) 270+ 124 = 394



